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CBT Sample assessment model answers

Processing bookkeeping transactions (PBKT)

Sample assessment 2

Task 1

[image: image2.png]Gold has issued the following sales invoice and sales credit note.

Enter the appropriate details from the sales invoice and the sales credit note into the relevant

day-book below.

Gola

14 High Street, Darton, DF11 46X

VAT Registration No: 208 3837 04
Invoice No. 4789

Date: 30 June 20X Customer code: FIR0G

To: JIFith

Darton, DF8 7HY

256.00

80 items of product AP @ £3.20
32items of prouctAZ @560 179.20

43820
VAT @ 20% 87.0¢
Total 52204

Terms: 30 days net

Gola

14 High Street, Darton, DF11 46X

VAT Registration No: 208 3837 04
Credit Note No. 983

Terms: 30 days net

Date: 30 June 20X Customer code: C
To: Coxple
Darton, DFS 6CD

200 items of proguct AP @ £320 540,00

Less 10% bulk discount 6400
576.00

VAT @ 20% 11520

Total 691.20

ox11
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£
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£
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Task 2

[image: image4.png]‘The following credit ransactions have been entered into the purchases retums day-book as shown below.
No entries have yet been made into the ledgers.

Purchases returns day-book

Bh e e W

(a) What will be the entries in the purchases ledger?

Purchases ledger

Account name

(Green ana Co

ity Cain

(b) What will be the entries in the general ledger?

General ledger
Account name
[Furchases ledger conrol

[Purchases returns

VAT






Task 3

[image: image5.png]There are three recsipts to be entered in the debit side of Gold's cash-oook during one wesk.

Recsiptfrom a customer who does not have a credit account:
- Cash received from Bob Sykes of £462 including VAT, for goods sold

Recsipts from credit customers

~BACS receipts 3s shown on the remittance advice notes below.

Lynch Ltd
BACS Remittance Advice

Taraplc
BACS Remittance Advice

ITo: Golg 1 June 20X
2n amount of £1,988 has been paid directly into
[vour bank account in respect of invoice number
G778, A sefflement discount of £116 has been
taken.

ITo: Golg 1 June 20X
|2n amount of £1.218 has been paid directly into
[vour bank account in respect of invoice number
G707. A sefflement discount of £85 has been
taken.

(a) Enter the details of the three receipts into the debit side of the cash-book shown below and total each

column.

Cash book - debit side

cash
£

lpatance o 220)

lBob Sykes B 52 7 ES

nen Lta B G g g

Farapic B 63 1218 1218

ot £l £ 3207 77 3207 B





Task 3, continued


[image: image6.png]‘The credit side of the cash-book shows total cash payments during the week were £489.

(b) Using your answer to (a) above, calculate the cash balance.

193

‘The credit side of the cash-book shows the bank balance brought forward atthe beginning of the week was

21

(©

146 overdrawn and total

‘account s overdrawn,

846

bank payments during the week were £2.907.

Using your answer to (a) above, calculate the bank balance. If your calculations show that the bank

your answer should start with a minus sign, for example -123.






Task 4

[image: image7.png]Gold's cash-book is a book of prime entry only and not part of the double entry bookkesping system. There
was no opening bank balance at the start ofthe month. These are the totals of the columns in the debit side
ofthe cash-book atthe end of the month.

‘Cash-book - debit side

Totals 0 10,897 an 8571 1,85| o

(a) What will be the FOUR entries in the general ledger?

General ledger

Account name Amount  pepit  Credit

[var

[Sales 1eager control

[Cash sales.

One of the bank recsipts from trade receivables was from Finola Lynch for £1.255.
(b) What will be the entry in the sales ledger?

Sales ledger

Account name

Finola Lynch






Task 5

[image: image8.png]Gold maintains a petty cash-book as a book of prime entry and partof the double entry bookkeeping system.
The imprestlevel of £130 is restored at the beginning of each month. This is 3 summary of petty cash
ransactions to be entered in the petty cash-oook on 30 June

Fuel purchased for delivery van - £42.00 including VAT
Desk amp purchased - £18.30 (VAT not applicable).

(a) Enter the above transactions into the partially completed petty cash-book below.
(b) Total the petty cash-book and show the balance carried down at 30 June.

Petty cash-book

1un Balance bff 5158 19.0un  [Hlotor oil 26.40) 4.40) 2200
Tun Cash from bank 7842[30Jun |Motorfuel 5 4200 7.00 3500
300n |Desklamp 5 1830 8.30)
300n |Balance cia v @330
Total 130.00) [Total 30 140 57.00 8.30]






Task 5, continued

[image: image9.png](€) What will be the THREE accounts in the general ledger that will record the petty cash payments?

Generalledger accounts.

Desklamp

Hotor expenses

Hotor fusl

Hotor oil

Offce expenses

Patiy cash-book

Patty cash control

VAT

During July, two payments were made of £22.67 and £31.14. This is the debit side of the petty cash-book at
the beginning of August

(d) Enter the balance brought down on 1 August.
(e) Enter the amount of cash that will be withdrawn from the bank to restore the imprest level,
Petty cash-book - debit side

Date

= Details

¥
Batsnce 10
cammmsan | e






Task 5, continued

[image: image10.png]These are the notes and coins that are now inthe petty cash bor.

3x£20 notes

13x£5 notes.

2x£1 coins

1x50p coins

8x20p coins

9x10p coins

() Whatis the total amount of cash in the petty cash box?

130

(9) Does the amount of cash in the petty cash box reconcile with the petty cash-book?

Yes

No






Task 6

[image: image11.png]Below is a list of balances to be transferred to the trial balance.

Place the figures in the debit or credit column, as appropriate, and total each column.
Do not enter figures with decimal places in this task and do not enter a zero in the empty column.

Trial balance as at 30 June

Account name Amount Credit
£ £

Administration expenses 2054 2084
Capital 2363 23533
Gash at bank. 6% 63
Cash sales 0742 0722
Commission receved 725 725
Fitings and equipment 3205 32855
Heatand light 1672 672
inventaries 3628 2
Loan from mvestor 5000 5000
Waintenance costs 618 a1e
Purchases 792.789) 799780
Purchases ledger control 76427 78427
Purchases retums 5625 ea25
Sales 235012 235012
Sales ledger control 59215 ae216
Travel costs 1084 0a4
VAT (owing from HIM Revenue and Customs| 0421 0az1

ges and salaries 5934 5ess
Totals 360384 360384






Task 7

[image: image12.png]Shown below is 3 statement of account received from Cooper and Crow, a credit supplier, and Cooper and
Crows accountin Gold's purchases ledger

Gooper and Crow
field Road, Darton, DF18 BRL
STATEMENT OF ACCOUNT
To: Golg 30 June 20X
Date woicelcr ‘Amount
20XX  note number Details £
1 Apr 3106 Goods. 12214
|
5 Apr 122 Goods retumed 200[4]
5
12400 3130 |Gooss 1760[4]
|
15 May 3144 |Gooss 1,002]4]
|
1aun 3155 |Gooss a64[4]
Cooper and Crow
Date Amount  Date ‘Amount
= Details A = Details A
CES Credit note 132 200] 1 Apr Invoice 3105 1221[4]
M08 [Balnczaa 3701104 [Imvoice 3121 o204
> 2Apr_[Invoice 3130 7604
> Total i Total 59014
CEIDEN RS 2958 103y Balance b/d 57014
> 7iiay invoice 3139 2654
> 5ha_[Ivoice 3148 002]4]
> Total 298 Total BEER]
M0 [Baencza 5282 1 Jun Balance b/d Rk
> i invoice 3156 EZK
> 304 [invoice 3160 504
> Total 5262 Total 528204




 
Task 7, continued
[image: image13.png]() Show which THREE transactions are missing from the statement of account by clicking on the.
relevant invoice or credit note below. You can remove your selections by cicking agai

Transactions

Invoice 3106 Invoice 3121 Invoice 3130 Invoice 3139  Invoice 3144

Invoice 3156 Invoice 3180 Credit note 132





[image: image14.png]Gold must decids what paymentto make to Cooper and Crow

(b) Calculate the payment options shown below.

Payment options

1 Gold pays all of the amounts shown on the statement
of account from Cooper and Crow, what will be the 4647
amount paid?

11 Gold pays the amount shown as outstanding in the

purchases ledger for April, what will s the amount 0
paia?
1f Gold pays all of the amounts shown as outstanding 6282

inthe purchases ledger, what will be the amount paid?

n 12 July Gold ordered goods from Cooper and Crow who agreed a 10% trade discount and paymentterms,

0f 30 days net. The goods were delivered on 15 July and the invoice and goods received note are shown
below

Invoice Goods received note
Cooper and Crow Golg

14 Winfield Road, Darton, DF15 8RL

VAT Registration No. 398 3877 00 Goods received note GRN442
To: Golg Invoice No. 3172 15 June 20xx | |15 July 20x¢

c Recsived from: Cooper and Crow
350 product code CC45 @ £060each  210.00
VAT @ 20% 4200 | 350 product code CC45 in good condition
Total 252.00
Terms: Cash on delivery




 
Task 7, continued
 [image: image15.png](c) Refer to the information above and the goods received note and identify any discrepancies on the
invoice by clicking on each left hand box and then the appropriate right hand box. You can select each
left hand box once only and can remove a line by clicking on it

Terms of payment

Not shown on invoice

Customer name

Incorrecty shown on invoice

Trade discount

Quanty of goods deliversd

Correctly shown on invoice

Date

(d) What should have been the correct amounts of the invoice?

Netamount  VATamount Grossamount
£ £ £

189 37.80 226.80)






Task 8

[image: image16.png]On'2 July Gold received  cheque from a credit customer, Jet Ltd, together with the document shown below.

Jetlta
22 Ravenscourt Street
Darton, DF15 01X
To: Golg 30 June 20X

Cheque enclosed in payment of.

woice date Invoice  Invoicetotal Details of
20XX number £ payment

13June 3177 360 Paidin full

20 June 3201 421| Discounttaken

23 June 3210 565 Paidin full

26 June 3225 86 Discount taken

(a) Wnatis the name of this document?

Delivery note

Goods received note

Goods retured note

Remittance advice note

JetLtd takes a 2% settisment discount if paymentis received by Gold within 10 Gays of the date of invoice.





Task 8, continued

[image: image17.png]Jet Ltd takes a 2% setilement discount if payment is received by Gold within 10 days of the ate of invoice.

(b) Show whether or not each invoice has been paid correctly

e e ot Domtor P 0Tt
20XX number £ payment correctly correctly
13 June 3177 369| Paidin ful v

On 12 July Gold recsived the following purchase order from Jet Ltd, customer account code JETO3. The
goods were deliversdthe following day. The customer has been offered a 4% trade discount and a 2%
settlement giscountfor payment within 10 days.

JetLtg
22 Ravenscourt Street
Darton, DF15 01X

Purchase Order 0195

Golg 10 July 204¢
14 High Street

Darton

DF114GX

Please supply 750 units of product code JZ14
@#£55.00 perten, plus VAT.






Task 8, continued

[image: image18.png](c) Complete the TEN boxes in the sales invoice below.

Gold
14 High Street, Darton, DF11 46X
VAT registration number 298 3327 04

SALES INVOICE 3290

Date: [13 July 20K

To: Jetlta

Customer sccount coce: [IETG3
22 Ravenscout Sreet
Darton, DF15 01 Purchsse order o

Quantity Product Price each | Joial amount VAT Total
after discount
of units code B A £ B

714

4680.00 917.28

Terms: [2% setie

untfor payment within 1






Task 9

[image: image19.png]The following accountis in the sales ledger atthe close of day on 30 June.

(a) Insert the balance carried down together with date and details.
(b) Insert the totals.

(c) Insert the balance brought down together with date and details.

Helga pic





[image: image20.png](d) Complete the statement of account to be sent to Helga pic by:

~entering the amount of the balance brought forward into the final column
- dragging the appropriate date and details below into the first column
~entering the outstanding amount after every transaction into the final colum.

STATEMENT OF ACCOUNT
Golg
o Helgapic 14 High Street Daron, DFT14GK. (o0 o
Transaction  Outstanding
Date and details. ‘amount ‘amount
£ £
01.June 20XX - Balance b 4073
04 June 20XX - Cheaue 2,645] 1428
17 June 20XX - Invoice 1412 3219) 4547

123 June 20X~ Credit note 301 828 3819






Task 10

[image: image21.png]Itis important to understand the accounting equation.

(a) Insert the correct answer to each of the questions below.

Questions
Ifassets fotal £89,475 andliabilfies ftal £65,127 what s the amountof capital? 23348
Ifliabifes tofal 123,890 and capital is £55 670 whatis the amount of assets? 179560
If capital is £101,486 and assets lotal £176,333 what is the amount ofabilfies? 74867

(b) Show whether the items below are assets or liabilties by clicking on each left hand box and then on
the appropriate right hand box. You can remove aline by clicking on it

ltems AssetsLiabilities

Loan from an investor

Assets
Inventories
VAT owing to HI Revenue and
Customs
Liabilies

Offce furmiture






Task 10, continued

[image: image22.png]Atthe start of the day Gold's assets and liabilities included the following items.

Assets and labilities £

Trade receivables 47,507
Trage payasles 32,419
Cash at bank 4791

During the day Gold received £10,765 from trade receivables and made payments of£12,798
torade payables.

(c) Complete the table below to show the amount of assets and liabilties at the end of the day.

Assets and labilities

Trade receivables 36842

Trade payables 19621

Cash at bank 2758




 
Task 10, continued
[image: image23.png]Payments mads and recsived can be classified as capital expenditure, revenue expenditure,
capital income or revenus income.

(d) Complete the sentences below.

Arecelptof£5,000 for a cash sale s classified as v
A payment of £3,399 fo new windows is classified as v
Apayment of £2,500 for insurance s classified as v
Arecelpt of £450 orth rental of office space Is classified as v
Apayment of £1,845 to redecorate the offc i classifed as v
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